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The ratio of maximum shear stregg to average Shear stress is 4/3 in a beam of
B

{'A‘;/ circular cross-section ) ff-mngﬁlgz ;2g;s-secuon

(CY triangular cross-sectio D) diamon

B S o S gﬁ(aﬂ) &1 3G ATV IfaTS F 3T
A3FAR |

(A) TR ST afeede (B) AR 5T TR

(C) BYamR Ry uhede D) & =G

If Poisson’s ratio is 0.4, then the ratio of shear modulus of elasticity to
modulus of elasticity is : e,
af‘aam‘iagmm%aﬁmmmmwmmﬁ T B —
(A) 5/7 (B) 7/5 (C) 5/14 (D) 5/12

A solid circular shaft is subjected to pure torsion, the ratio of maximum
shear stress to normal stress at any point would be

U I FUER AR g We F AdF §, qt et g W arfrran sroeww
vfdeet & rfufea sfoeet #1 s g -

(A) 1:1 (B) 1:2 (Cy2:1 (D) 2:3
Maic/sbear stress theory of failure was postulated by %
(A)“St. Venant (B) Rankine (C) Castigliano (D) Tresca
e 1 tftrsan srveqw wiied g ey anfiafa éé:m ?

(A) a=fE=  (B) W= (C) HfRf¥am (D) fr=m

A bar of copper & steel form a composite system. They are heated to a

temperature of 40 degree C, the type of stress induced in copper bar is

%31 ter_xsé% & (%Womg;":?% (% shear (D) None of these
LS Be 8 83 9 991 7 | 3% 40 f3ht C ammm 7% ™ few @

¥ | %R oe A S Afae 1 TR - )

(A) @ (B) @dted €) g (D) FHABEIE

The water table in the deposit of sand 8.0 meter thick is at depth of 3 meter

below the surface. Above the Water table gand ;gksSn?ratg mo capilltar}

ity of sand is 19, . dy a s emn Lk s A
;ﬁfﬁrﬁmai g‘g]l;t qc??elgw, fap u;facc ,?20 KN/m3. What will be the eftective
8.0 Het 7 arey e H M R e ¥ 9 3w B e W R
oy T F FW W@mﬁqmmg | e W W
19.620 kKN/m? 2 | a8 % 14 8 U R qurey vy Ry @y 2 |
(410791 kN2 (B) 100KNAD® (€110 5 fm? D) 1085 8N
: A e : '
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10.

XL

i int load W.
beam A of length L carries a central poin v
Another beam is load with u.d.l. such that tota] load on beam is W. The rat1io

A et . between beams A & B is |
of maximum deflection tq Tm

m@aaﬁuAWﬁiwwmw{tﬂﬁl
%ﬁmﬁmwmm%ﬁﬁﬁﬂwmw% | A 3t B & #9

iftienan f&r &1 I 8 -
(A) 5/8 (B) 8/5 (C) 5/4 (D) 4/5

A simply supported

A simply supported beam of span L and flexural rigidity EI, carries a unit
point load at its centre. The strain encrgy in the beam due to bending 1s

L faregfy 3l E1 srmmet ggan i, 3% e o 3oré frg W 9@
FUTE B | oA %mmﬂm
(A) L"3/48El  (B) L73/192E1 (C) L"3/96El (D) L"3/16EI

A block of stone or concrete provided under the end of tie beam to spread
the load from the roof over a large area of bearing is called :

(A) gable (B) hip (C) verge (D) template
ferrfion 3 Jea 8 T B | Wt frean 3 forg a1 aa & R % i wga et srwan
Fhle H1 GUS HEA & —

(A) A&t (B) #m (C) = (D) TR

The process of filling up all nail holes, cracks etc with putty is called
(A) Emotting (B) priming (C) stopping (D) finishing
51 @ wh fier o, 2 on = e o e e & -

(A) Afen (B) s (C) =i (D) Hfafem

A course of stone provided immediately below a cornice is called

(A) blocking course (B) coping

(C) frieze (D) parapet

it 2 St e T TR 1 R/ FEA & -

(A) AT IER (B) ®iftm (€) W (D) ¥

A ratio of i .
A ﬁae clloag the focal length of objective to that of an eye piece of telescope is

(A) definition  (B) brightnes kl.) sensitivity (D) magnification
' ‘ § 1 AT T SRS R 2
(A) Ta (B) o © ok (D) ey

e el e e TR i
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14.

15.

16.

(C) 3=t wa-faepreft wEH T

the pressure of fluid due {q hammer blow is

(A) Directly proportional t, density of fluid.

(B) Inversely proportiona] ¢, density of fluid. _
(C) Directly proportional tq square root of density of fluid.

\

(D) Inversely proportional ¢4 square root of density of fluid.
T SATITE % BT a0 a7y

(A) mm%m@mﬁg\mg,

(B) & 99ed & BTt |

(C) T g9 % T B 2 |
(D) WW%W%WW%'

A welded steel plate girder consisting of two flange plates of 350 mm x
16 mm and a web plate of 1000 mm x 6 mm requires :

(A) no stiffeners (B) vertical stiffeners

(C) intermediate vertical stiffener (D) vertical and horizontal stiffeners_
350 mm x 16 mm 6 21 whs w2} 3t 1000 mm x 6 mm % T I& @ F T
afesd &ie e TEUH arravas e d - .

(A) I3 g T (B) F@R ggHr

(C) Tegad! FHeaier ggarl (DY Fafm 3k &ftw ggart

A reinforced cantilever beam of span 4 m has a cross-section of 150 x
150 mm. If checked for lateral stability and deflection, the beam will

(A) fail in deflection only. den
(B) fail in stability only. 353
(C) fail in both deflection and lateral stability.

(D) satisfy the requirements of deflection and lateral stability.

4 $ T 9 & 150 x 150 mm 1 w1 IR TN
&, g T o P &

(A) Fae faga § fawer g9t |

(B) Fa«t vifires # fawet 21l |

(C) fad it ared verfre ® faeet B0t

(D) fadi aft ured wenfic A ATEEHRAH N g FE R |

Alkaline soils are reclaimed by

(A) leaching

(B) addition of gypsum to soil |

(C) providing good drainage

(D) addition of gypsum to soil nd leaching

& 921 ) QU e & — :

(A) P gra C (B) T R R

(D) R Ry s SRRy AT

M v+ S ST VS

S S e, el ey Ao S



18.

19.

20.

21.

22.

h rounded grains has effective grain size of 0.05

\ loose uniform sand wit !
Co. : i e san
cm, Co-efficient of permeablllty of th dis

mvmamﬁmmﬂﬂwﬂmmmo.onm% | g1 BT
TR T & —
(A) 0.25cm/sec (B) 0.5cm/sec (C) lem/sec (D) 1.25cm/sec

Which of the following units i employed for the removal of particulate

. N H Q
matter above 1 micron(um) in S1Z€ ¢

(A) Fabric filters (B) Cycltl)ne |
(C) Electrostatic precipitator (D) Gravity settling chamber

SR 3 | AR (um) B a2 e 55 ge 3 R fe # & b g
AT BT R 7

(A) Hfsrep fheet (B) AN .

(C) Torgaedfers sragioa (D) T Yefm v

Which of the following defect appears due to presence of alkalies in the
bricks ? o

(A) Bloating . (B) Black'core (C) Cracks (D)” Efflorescence
Hif A RS s IR AT TR g g ?

(A) gF (B) #@nmE (C) &N (D) IepeeH

If the least lateral dimension of aggregate is less than 0.6 times of its mean

dimension, the aggregate is classified as

(A) Angular  (B) Flaky (C) TIrregular (D) Rounded

%ﬁﬁﬁgﬁaﬂmﬁmﬁmmmﬁmﬂ 0.6 O % B, N I H Flipa
AT & —

(a) =rh (B) wrewheft () tmfm (D) TR

The void ratio of a soil sample is given by 0.58. What is the porosity of soil
sample ?

g1 & 1 RRT ST 0.58 & oo oy & | e Bt Y iy Rt R 2
(A) 0.157 (B) 0.367 (C) 0.524 (D) 0.602

The hydraulic radius and cross-sectional area of a channel is given by 4.5 m
and 18.5 sq.m respectively. What is the wetted perimeter (m) of channel ?

s d1fgeht 1 ZT B 3R Iy -me 9% FEW: 4.5 m MR 183

g feg & | w1 R TRA (m) e B 7 sqm

-
e s st e s e s g . Y, .

Code No. : C-704/2021/Series-B .




27.

P L

C alculate the safe sto

g ciai di for a design speed of 72 km/h for
two way traffic on a Pping sjght distance

si . reaction time of driver is 2.0 sec,
(assume f= 0.4 and g =n%})e;32§)foad. The e
mwmmamm%mnmﬁmﬁﬁ it
foreft 391 g0 B TR iR frfeRaT ag 2.0 998 & | (f=0.4 3l
g=10 m/?ﬂfﬁm | g

(A) 180.00 (B) 13623 (C) 16442 (D) 674.24

A column splice is used to increase

(A) length of the column, (B) strength of the column.
(C) cross-sectional area of the column.(D) None of these

et 9T 2 T e Rr—gify 5 e fopen Tn & 7

(A) Taw <l oy (B) T

(C) T 1 I -H1E & (D) T AHE T

In case of a simply supported rectangular beam of span L and loaded with a
central load W, the length of elasto-plastic zone of the plastic hinge is

L faegfa ok = wR W g wiRa R €W @ Rafa b,
s i % ey whfees 8 2-
(A) L2 (B) L3 (C) L/4 (D) L/5

If water table is comparatively high, the irrigétion canal becomes useless,
due to

(A) Large amount of seepage %

(B) Water logging of the cultivated areas

(C) Uncertain water demand

(D) All of these

1R s ST e &0 4 3 &, T 30 e Riv T I R I -

(A) Toam € geg wen (B) F= &3 w1 JowEA
(C) ff¥aa st wfn (D) 7ot

To hold hydraulic jumps, baffle Walls are provided in

(A) Sarda type falls ©  (B) English type falls
(CY Montague type falls . (D) Vertical type falls
FAreT Yo ¥ forg anforeeT IR SE e § - i

(A) HREI FHR gawa d C o (B) ST Ry §
©) WRAygrywwd (D) TR WE R



28.  The intensity of irrigation means -
A L;{etrj:n{age of cgulturable commanded area to be irrigated annually.
(p \ Pe:temage of gross commanded area to be irrigated annually.
P S v

(C) Percentage of the mean of culturable commanded area and the gross
R =% e

v * l]
ommanded area to be irrigated annually. |
| }(::;?depth of water supplied by the number of watering.

{

\

D)
e & dgd w8 -
Tﬁﬁmmﬁﬁ%ﬂmaﬁaﬁwﬁﬂﬁawm

ﬁa ﬁggmﬁmﬁmﬁwﬁﬂ@amwﬁa@a%mm
- feE

(D) 3 T g YR e Y e T

29. Retrogression of the bed level of a river downstream a weir, occurs due to

(A) Less percentage of silt (B) Increase of the bed level
(C) Heavy impact of water (D) Soft soil strata
F1eR & FIATE ¢ & det W P T 39 FHROT &A1 § —
(A) B2 F1 54 g (B) &R 4 gfg
(C) et &1 Tl duee (D) 9 7T &R

30. In a canal syphon, the flow is
(A) Pipe flow (B) Under atmospheric pressure
(C) With critical velocity (D) Under negative pressure
TE TS 1, JATE g & - | s n
(A) 9739 JaT8 (B) IATS T
(C) i< 3 % 9y (D) T TE F T

31. Soil is derived from Latin word
(A) Sonum (B) Soila ‘C) Solia (D) None of these
sirge Az ez (TR

— HTOS I
(A) @FH (B) wgem (€) @feran (D) AR I
32. Hardness of drinking water ig recommended as

YA h A HSAT -
(A) 75-115 mglitre 45,75 malie
(C) 0-45 mg/litre gg% s

33.  Application of fertilizer along wigh ;- g _
(A) Fetrigation (B) Notching fTigdtion water is call(elg) " ‘
=T 9 & 9 1 ; ) None of these

 Codene. s Crowmntienes —— QW D) wEIg
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36.

37

Sckine s

CAr Makimg a noteh below . Joving a wedge shaped pi{j:c»c of bark_
(3} Making a notch n;)lgt\e: t;:fj tt’,);r::: r:-n()\!ing a wf:dg,t: Shﬂp;ﬂd ‘plCCC of bark .
(€A circular ring of bark measuring about 3 cm 1IN length is removed.

‘ ';%;‘“Sslection and complete removed of part of the plants.

T ihi] B~

(A) OTE & G=h .m%m@mﬁm%ﬁﬂam I

(B) BT & B m%m@,msﬁm%me |

(C) T3 cmmm@,m@mﬁmem l

(D) DYl & 9m F T4= 3 g, wem |

The main object of a preliminary survey is ' o

(A) 1o collect the necessary physical information and details of topography,
drainage and soil properties.

(B) to estimate cost of alternative alignment.

(C) to finalise the best alignment,

(Dy All of these

SRS Faa w1 g Jew - .

(A) s e et gy, Ja-Pem sl S o S e

EARP Y
(B) S=fcys @ Y ST w1 AR

(C) Iam wr@y & favfa %
(D) @R |

An Enoscope is used for measuring

(A) Running speed (B) Time mean speed

(C) Spots (D) Overall speed

foas T & o e R R ey 2
() wemTla (B) AR (C) Ry (D) &wm

A unit hydrograph has

(A) one unit of peak discharge

(B) one unit of rainfall duration

(C) one unit of direct runoff

(D) one unit of the time base of diract ¢
pcTpems i u A
(A) ol oo & o T

(B) st HwEd

(C) W% JYaTE 6! T 5618

(D) e SR % T FR B

iy
T o o, e et g st s e e e

|
Pl iy 2
N i
3 At W g g e

“Code N ; 0704 2021 Bertese ik



38 For the same internal diameter wa}l thickness, material a}nd mtex“nal
pressure, the ratio of maximum stress, Mduceq in a thin cylmdrlcal and in a

: | » : e
thin spherical pressure vessel will b

T s s, A A, T S it g 3 forg et AFHTHT T
5 e sifean e i A TR S qr § Y srftesad REe &

ST BT
(A) 2 (B) 1/2 € 4 (D) 1/4

39.  Strain energy stored in a body due to €xternal loading within elastic limit is
known as :

(A) malleability (B) ductility — (C) toughness (D) resilience
T T 3 witer aad) ST 3 HROT Fohelt v wift fargpfiy et weeTe & -

(A) amoraaedar (B) &= (C) =fugw (D) wfafeafae

40. A 2 m high vertical earth retaining wall retains a dry granular backfill with

angle of internal friction of 30° and unit weight of 18 kKN/m3. If the wall is
prevented from yielding (no movement), the total horizontal thrust (in kN

per unit length) on the wall is :

T% 2 m et 35U qa1 Wferaes aR 30° IT=rin o o 3K 18 kKN/m3 F
I HIUTHY Y58 HUTE ! YT Bt B | I SR ) TEa ($E g9 T8) |
U1 2, SR R & yong (kN 9fer 3ehTd orrd o) & -

(A) 18 (B) 20 (C) 25 (D) 10

41. A level instrument at a height of 1.500 m has been placed at a station having
a Reduced Level (RL) of 112.500 m. The instrument reads - 2.00 m on a
levelling staff held at the bottom of a bridge deck. The RL (in m) of the
bottom of the bridge deck is

T T 39T 1.500 m Y 91 W 112,500 m F TG 76 (RL) TS RYW
TG AT & | I YIS I I et w4 G T W — 2,00 m TEq R |

TR 9 % G W RL (m H) & -
(A) 11600 (B) 11300 (¢) 109.00 (D) 112.00

42. When available water head is 60 to 150'm, suitable type of turbine is :

(A) Pelton wheelc (B) Francis Turbine
(C) Kaplan Turbine (D) ' None of these

mmwmmﬁlsomz,mmﬁm%—
(A) TAEF  (B) G T () oo T (D) TR I

o b b e st sl . S . SR e S VRt ity f

Code No.: C-704/2021/Series-B b



43.

45.

46.

As per IS 10500:2012, £
of water, the pennis,sib
respectively are

(A} 1000 and 400 (B) 400 and 1000

(C) 400 and 400 (D) 200 and 400

1S 10500:2012 % 31ER, wor 3 defess 61 0 IRl # Twwe # fom
T I TS Y S ey g/, 3 0 & =

(A) 1000 31 400(B) 400 af 1000(C) 400 3400 (D) 200 3T 400

I drinking water in the absence of alternate soyrce
le limits for sulphtaes and chlorides in mg/[,

The initial concavity in the load-penetration curve of a CBR test is due to
(A) Improper compaction (B) Soft top layer ﬁ
(C) Inclined plunger (D) All of these el
CBR W& & - STie oo & SRR STeraerdl §6h H10 8 -

(A) FREEEH (B) WIuiuwE (C) IFd fwwes (D) Te ™A

A circular bar AB having length “L”, fixed at both ends is loaded by 2
distributed torque of constant intensity “q/unit” distance along the axis of
bar and varies linearly in intensity from zero at one end(A) and “q."* at other

end (B).What will be the torque at B ? (where I is polar moment of inertia)

o » s ) T TR B AB, SR BRI R 3G §, T3 F 75 F ¥
“q@ﬂ?’mwm%ﬁaﬁﬁmmm%aﬁt@ﬁim)mi@@e@
iR (B) W “qo” dieran § 1y &9 & wewd @ | B W et fba g 7 (9 1

e ged ST 2 1)
(A) (q.L)/3 (B) (qoL)4 (C) (qLY10 (D) (2q:L)®

The intensity of irrigation for the Kharif season is 40% for an irrigation
project with culturable command area of 25000 hectares. The duty for the
K_harif season is 1000 hectare/cumec. Assuming transmission loss of 20%,
the required discharge (in cumec, upto two decimal places) at the head of the
canal is
25000&«%%@%@%%%?@@%%%%&
fereré 1 i 40% & | TS WG F R @ 1000 IRTIFES 21 20%
ST T T g, T ¥ 9 O S v (e 2 v 7o) ¥
(A) 123 ® 10 (© 15 ®) 20

b e S - 5 A e

“ S b, b = ™ gy - .,“j!.'
1% . Code Now 1 C-T04/ 2021 NeHies s




48.

49,

51.

4 7 5 1 wide two-lane road on a plaid terrai jq ¢ pe 1aid along a horizontal

crve of radius 400 m. For a design SPeed of 10g kmph, super-elevation is
provided as per IRC : 73 - Consider acCeleration due to gravity as 9.81m/s.

The level difference between the inner and oyter edges of the road (in m, up

(o three decimal places) 18 " ©) N fihess
(A) 0525 m (B) 0.760m . 0.750m (D) Noneollth

400 m Fren & 2fre 6 5 919 GG 89§ 7.5 1) i Q)-wrre U BT I

2 100 kmph feame ofig & fog IRC:73 % yem feean T

1 e & wR e 9.81m/s? WIHT | B9 & anreafes 37N @18l B & AHA

7 3 (m ¥, 91 2me a) & -

(A) 0525m (B) 0.760m  (C) 0750m (D) FHABE T

The total rainfall in a catchment of area 1000 km? during a 5 h storm, is
'S em. The surface runoff due to this storm computed from triangular direct
runoff hvdrograph is 1 x 10° m3. The ¢; ... for this storm (in cm/h, up to
one decimal place) is :

S h TEH & Q0 1000 km?® F HTETE &7 T Fo1 991 15 cm & | 39 THA & SR
ATTR TSy SYaTE Fererd g I HaE AR 1 x 103 m3 & | 36 TR &
T 64 (cm'h, T SR %) z-

(A) 10emmr (B) 20cemhr (C) 15cmhr (D) 0.5 cm/hr

Canals taken off from ice-fed perennial rivers, are known

(A} Perennial canals (B) Ridge canals

(C) Inundation canals (D) None of these

Em-ifa arearE et @ ot 1wl wrendt 2

(A) TETHA AR (B) HHFIW  (C) AE TR (D) FHIASE &

Soil having liquid limit of 65% & plasticity index of 50%, then plastic limit
of soil will be :

655 5@ €A 3R 50% Gaedan gawis areh 551 4§, 95 i guey @ anh

{A) 15% (B) 50% (C) 115% (D) 65%

The length of a transition curve, is governed by
(A) Rate of change of radial acceleration

(B) Rate of change of super-elevation '

(C) Both(A)and (B)

(D) None of these 3

(A) B REH R (B) TR MR NR
(C) (A) 3R (B)gHI @) FRYE



| UE YL Y ' ) .
22 Which one s metamorphic poek 2

(A} Schist (B} Limeqana (C) Sandstone (D) Granite
o R AR o :
(A) fame B) Tl-ger (C) TR (D) T

%3, Flakiness index is % by weight of particles in it, where least dimension is
less than

(A) 375" of its mean dimensjop

(B) 2/5% of its mean dimension:

(Cy 4/5™ of its mean dimension,

{D\ 71”8[h of its mean giimension

bt S S BT o e vy &, el g R e A R -

(A) gae ATed fam 1 3/5 (B) e ATeA fom T 2/5

(C) weeh! ared fam T 45 (D) weeh ATeA fom %1 7/8
54, The relationship dp/dx = dz/dy is valid for

(AA lmmﬁonﬂl flow (B) Non.uniform flow

(C) Uniform flow (D) Unsteady flow

dp/dx = dz/dy TF-4 3a ferq du & -
(A) spfisare  (B) Y%wwm yaEm (C) CaH 4 (D) el gaE

€5 At vena-contracta a jet has the minimum area of cross-section and so the
velocity of liquid jet on this section will be
(A) minimum (B) maximum (C) average (D) zero
OF F2 8 I AT W =AW JTTI-HR % 2 3N 39 THR 39 L W T N2
=1 37 BT -
(A) <A (B) @  (C) Jwd (D) ™

56. A flow through long pipe at constant rate is called %
(A) Steady uniform flow
(B) Steady non-uniform flow
(C) Unsteady uniform flow

g?t Unsteady non-uniform flow

o T A TS @ TE FEl § |

(A) S CHEHH FETE (B) TR FHEH TR
(C) Irerft wpaAT JAT8 (D) IEUr) FHEEE TR

§7. The thickness of boundary 1ayeT at the leading (entrance) adge will ¥
(A) maximum (B) minmim (©) zero (D) avera

30 () v T T 1 IR A

@) sman (B T O @ D) 3T




&

3. As the depth of immersion of a vertical plane syrface increase, the location
of centre of pressure _

(A} Comes closer to the centre of gravity of the area.

(B) Moves apart from the centre of gravity of the area.

(C) Ultimately coincides with the centre of gravity of the area.
(D} Remains unaffected.

ST T TR 3 e TEUs 9G4 8 T e 1 fRuf

(A) TE 5 % o g 5 GH IR R |

(B) 39 &3 ¥ o g A QA I & |

(C) 38 &% % TTocd 5 o TV U & AR 2 |

(D) sTnfEa w2 |

59. If the duty of water for a crop of base period 120 days is 864 hec/cumec,
then the delta for the crop is
Ifg 1zoﬁﬁﬁmm&ﬁﬁwﬁm%mmaﬁ (3g<1) 864 hec/cumec
2, A1 sue ¥ fau e 8 -
(A) 1200mm (B) 1600mm (C) 1000mm (D) 864 mm

60. What will be active earth pressure if bulk density is 18.0 kN/m?, angle of
internal friction ¢ =30° and height of embankment is 3.0 m ?
wfFa wa g # ENT afé TF T 18.0 kKN/m3, =i v B0 ¢ = 30°
FNTEuHITE30me ?

(A) 18.0kN/m? (B) 540kN/m? (C) 6.0kN/m?> (D) 18.5 kN/m?

61. What will be horizontal thrust (in kN) if bulk density is 18.0 kKN/m>, angle
of internal friction ¢ =30° and height of embankment is 3.0m ?
Afr g (kN &) F1 8 R = w9 18.0 KN/m’, =i 9901 i
6=30° s ARETF FTE30m R ?
(A) 270kN  (B) 540KN  (C) 60.0kN (D) I8.5KkN

62. What will be passive earth pressure if bulk density is 18.0 KN/m’, angle of
internal friction ¢ =30° and height of embankment is 3.0 m ?

faferg o9 ¥ B oafe e 18.0 KN/m3, Fais ¥ =
¢=30°53%T1mﬁ€-3ﬁ3.0m ?

(A) 1620 KN/m? (B) 1540 kN/m? (C) 60.0KN/m* (D) 10.0kN/m*

63. Sheep-foot rollers are recommended for compacting :

(A) Cohesive soils (B) Granular

(C) Both(A) and (B) ) (D) None of these.
3 91 S0 30 HEH & fTe Hega &~

(A) G (B) FREE
() (A) 3 (B)THT ©) T BT

s i, it

é;agtif&;'?"c—?oi?’z‘b‘zxfsmcs-a B e



G4,

66.

67.

70.

AP e iy —— i
Sl i $ e i e et ) oA S Mokt e
N st S, S e

if the co-efficient of actiye 1/3, then co-efficient of passive
earth pressure will be m

afe el &9 O 1/3 8, &y frfewa g1 &9 & -

e ® 1 (©) 05 (D) 3

Maximum area of compression and tension reinforcement in beams as pr
IS 456 : 2000 in proportion tg gross cross-sectional area is ‘

FHel ST -HIE éamaaaq-fmﬁlsﬁs:zoooaﬁmmﬁm@
g S T AU 8 gy & -

(A) 4% (B) 2% (C) 6% (D) 2.5%

The declination of star is 20°N gt a latitude of 40°N. The zenith distance at
the upper culmination is

40PN S T AR 1 feghama 200N & | s e g g 2 -

(A) 20° (B) 40° (C) 60° (D) 30°

A reinforced concrete beam of span 4.0 m, has a cross-section of 150 mm x
500 mm. If checked for lateral stability, the beam will

earth pressure 18

(A) Fail in lateral stability (B) Pass in lateral stability

(C) Cannot sg (D) None of these

40m e feefem s fi7 | 150 mm x 500 mm FT FITE HE
23k wnfies i wte 6 o R, ot i wef -

(A) "ifRis wnfie § fawe (B) -qifedies wenfiea & €ct

(C) &8 s (D) ¥ @ T

Which of the following sites will be applicable for a change point ?

(A) Back sight (B) Intermediate sight

{C)y Back and fore sight (D) All of these

o farg 3 forw P 1 @ A 4 WTEe g BA 7
(A) o5 e (B) AT (C) WRwWamE (D) Igavl

For setting out right angles, the instrument used is

(A} Optical square (B) Alidade %
(9 Ab%teyﬁl;\:;aa;m S :(D) None of these

(A) ffhet TR (B) s

©) tshtagw (D) ARl

For a linear, elastic, isotropi¢ material, the number of independent elaste
constants is : L | |

e, s, mdfre e, T S e v -

_(A) 3 B) 4 ©) 1 oY 2
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|
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72.

ssure and settlement distribution for a footing are shown in
rresponds t0 8 .

-« 4 A )
P

- \\m} ’i.xz

(A) rigid footing on granular soi.l-r | (B) rigid footing on cohesive soil
(C) flexible footing on saturated clay(D) None of these

972 (footing) ¥ fere e g 3R e e fo & qufg mo & | e @ & -

The contact pre
the figure. The figure cO

(A) U GE W 3G TG (B) W WEl W 3§ UG
(C) W= JeT T T UIe (D) ¥ & ¥ TE

Match List-I with List-II and select the correct answer using the code given
below the lists :

List -1 List — IT
a. Parapetwall 1. Constructed with dry stone masonry encased in
wire mesh.
b. Checkwall 2. To add the overall stability to the hill face.
c. Breastwall 3. To buttress the uphill slopes of the road cross-
section.
d. Gabionwall 4. To give protection to the motorists.
@-i@t@-nﬁﬁwaﬁ(gﬁzﬁ%:ﬁ%ﬁqa@mmmaﬁwgﬁq:
g1 3 -1
a. WedEm 1. R ST & warge o 9ok s & Piftfe
b IR 2. TE ey e TR R 6 Ror
c. IREIR 3, TS A -H1e & FER SH ) gy s S fye
d. AMesmdEm 4, Iﬁamaﬁwwwﬁ%m
Code /%2 :
a b
(A) 4 3
® 1 2
© 4 2
(D) 1 3

e, — T R Wt .

——

g A—



75.

76.

77.

78.

~ - Which one of the following tests of water/wastewater employs Erichrome
‘Black T as an indicator ? s 0 '

(AY Hardness

(C) Residual chlorine
?ﬁ:’@wmﬁqﬁ@ﬁwmqﬁgmﬁ T % g% 5 &1 & %W
AEdl s ¢ ‘

Reduction in volume of soil primarily due t0 squeezing out of water from
the vojds is called

(A) primary consolidation (B) plastic flow I

(C) creep D) secondary consolidation
ﬁﬁaﬁ%aﬁﬁvﬂm%mmﬁéﬁ)%aaa e & el HEAT & -

(A) ST GO (B) TR wag (C) R (D) i W

In which desalination process, solar energy is used ?
(A) Reverse osmosis (B) Freezing

(C) Electro-dialysis gz(.ﬂli.ry/Solar gvaporation
o, G St

T3 Torerafiertor wfdran B g ?
(A) IcpH TTEW (B) THA ) frga-saE (D) R S
In general, depth of plate girder is kept as of span.

(A) 1/5t01/8 (B) 1/8to1/10 (C) 1/10to1/12 (D) 1/12to /15
T, e TR o e faeqfa TEl T R |

(A) 1/581/8 (B) 1/831/10 (C) /108 1/12 (D) /128 1/15

Phytometer is used to measure

(A) Evapotranspiration (B) Transpiration
(C) Evaporation (D) Filtration
foparh WO 3 FTT SRt 1 SR R ST R 2

(A) aA-ITSACEA (B) arsrewaH

(C) AT | (D) Treign

Gibb’s module is a type of

(‘8 nonc-lmodc;ﬂz{ir °“t1;’t (B) semi-modular outlet

" rigid modular outlet (D)
Hqﬁzgf?gh " open flume outlet

(A) - (B) 3mM- el
(C) 7o et i (D) ﬁ@m

Code N C30U R0 Series-B




80.

81.

83.

8s.

86.

(punnel (s a part of

(A) Muid board plough (B) Multile bottom
(C) Single bottom (D) None of these
T4 HEF] W R -

(A) FER A (B) WU R () fgedia (D) 78 B FE 7

Total number of Vidhan Sabha s€ats in Hamirpur district of H.P.
anTae v 4 e et A -8 i o) e wem 2

(A) 3 (B) 4 fc)% (D) 6
Spiti jwa tributary of which river of HP, ?
‘i“é:ulu (B) Chenab (C) Ravi (Dfﬁcas
’Fa?’wLa vz 6w 78 ) qEEF T4 R 7
(A) HaH (B) @ (C) T (D) =&
Sangla Valley is also known as
(A }’giarda -doon Valley (B) Doon Valley
(e pa Valle (D) Balh Valley
mﬁrfﬁ‘*ﬁg‘ﬁm ST R -
(A) Tpamg-z gl (B) A 9wt
(C) areq g7 (D) arer =@mél

Inderkilla mountain peak is locatcd in which district of H.P. ?
(m Mandl (C) Kangra  (Dy Kullu
%?TEIH B '«% fopm oot o fem ‘3 ?

(A) mﬁ (B) =mn (C) =gl (D) P

Pori fair is celebrated in which district of H.P. ? -

(A) ermour (B) Solan (C) Kinnaur (D)* Lahaul-Spiti
arft 7 famae u&m % fopm R g AT 2 2

(A) faoi (B) @\ (C) R (D) wE=E-=

Lakshnti Narayan temple is located at which place in H.P. ?
(A) Baijnath_ (B) Bharmour (C)C hamba (D) Pragpur

Frgor af= fareer wew 4 fpg WA W
(A) (B) wiHn (C) == (D) WRTR
ilway line of H.P. is
(A)-Kalka — Shimla (B) Pathankot - Jogindernagar
C) Nagg -~ Una - Chararu (D) Bhanupalli - Bi‘x&i{.*\}l' - Rarn
&) U e A R -
(A) weR-fmen (B) TEHHR-FIRERR
(€) AFTA-FAT-TTE (D) mqq“‘? ’F"'F—"*sh.{‘-ﬁ{‘

s s S VD ST . A s
s el

Code No. : . C-704/2021/Serles-B 18



3.

90.

91.

93,

which district of H.P. has higheg; L on density 7
ghest populanOﬂ

(A) Una - (B) Kangry (©) Bilaspur '(Drﬁam@l}!‘_,
et Wew o fond Y W Iy s e B 7

Which district of H.P. has highest nymber of Sub-tehsils ? .
(A) Rangra, (B)"Mandi (C) Shimla (D) Hamirpur !
frere S % o8 Pt ¥ 39ty ) erre 91 & 7

(A) HrE (B T ©) fme (D) T

Dodra-Kwar revolt took place in which year ?

Srar-oar e fohw o gan ¢
(AT1906 AD.  (B) 1912AD. (C) 1916AD. (D) 1922 A.D.

The first Governor-General of India to visit India was .

(A) Lord Rippon (B) Lord Lytton (C) Lord Curzon (D) Lord Ambherst
\Tre 4 AT A el I S T T SR O — |

(A) @R (B) @RfmE () @EwE (D) WEWER

Founder of Keonthal princely state was

(A) Bir Sen (B) BirChand (C) GiriSen (D) Dip Chand
e Tl T & T o - .

(A) dr@A (B) #w=) (C)” T (D) qUE=<

Which is the executing agency of Malana —II Hydroelectric Project of H.P. ?
(A) Ms. Everest Pvt. Ltd.

(B) M/s. Malana Power Corporation Ltd.

(C) MJs. Jai Laxmi Power Corporation Ltd.

(D) None of these

FRmTeret TR 36 AT St ARae] S0 S RH R 7

(A) . e wgae .

(B) . e wida faom for.
(C) 2. s e wiew fomwt f.

(D) & & 2 7

Maharaja Agrasen University is located at which place in H.P. ?
(A)~Baddi B), Mandi (¢ %g:alampur D) BaruSahid®
TERTST 3 fygaener RRwTee TQ¥ o Rhe e W R R 7

- (A) @ @® & (O wemm (D) SEEE

pu———
e —
g TN e . ot i b

PR
Pl e i b Sk e = st e -

021 Series-B

=
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64 What 1s *Kee’ n H.P.?

i A _r’ﬂ"l':}nasteﬂgﬂ (B) Mountain Pass

(€) Glacier (D) Lake

femrera yeg | Y (Kee)ﬂ% ?

(A) TE ) "agd  (C) femg (D) ==

'"Ej:l As per the recent notification from Department of Telecom, calls from
iandline to mobile should be prefixed with which number, from January

2021 7
mmﬁmmﬁmmzozlﬁmﬁmm
et § B | T E H ST SR 7

(A) O (B) 7 (C) 8 D) 9

@ ‘RE-INVEST 2020’, an investing meet, which was in news recently, was
organised by which Union Ministry ?
(A) Ministry of Petroleum and Natural Gas
(B) Ministry of New and Renewable Energy
(C) Ministry of Housing and Urban Affairs
(D) Ministry of Corporate Affairs
‘RE-INVEST 2020°, @& Fasfht o <t grer & & gumend 4 o, foom w1 |
st s oft 7 : "‘
(A) Tfrm @ TERE f e (B) A T TR SN e
(C) T ud el Ael s et (D) fRiE wmee| 1 Herer

97. The land-attack version of which missile was recently test-fired in the

Andaman and Nicobar ?
(A) Brahmos  (B) Prithvi-Ill (C) Agni-Ill (D) Dhanush
?Wm{—mmm@ﬁ aveaH 3R feNR § s s

@WEE @) wm (© IR (D)

@ R.N. Chibber, who recently passed away, yas associated with which feld °
(A) Sports *  (B) Defence (C)” Politics D) Ams
. fas, ﬁmm-ﬁﬁﬁmgan, frg S ENREY

(A) GEEE B) wn C(C) TSR D) w&h
0L 25:625::35:7 :



% i - 'S 0 y £ 3]
84 What is 'Kee in H.P. ¢

(A r’ﬁihnastgg, ) (B) Mountain Pass

() Glacier (D) Lake
et e 8 Y (Kee) T8 7

(A) T3 B) W@  (C) T (D) =

@ As per the recent notification from Department of Telecom, calls from
| landline to mobile should be prefixed with which number, from January

20219 -

v fawT ) AT AR AR T 2021 § AvSETH | AT W
ST § B g1 TR GE § Sl ? b
(A) O (B) 7 (C) 8 D) 9

E ‘RE-INVEST 2020, an investing meet, which was in news recently, was

organised by which Union Ministry ?

(A) Ministry of Petroleum and Natural Gas

(B) Ministry of New dnd Renewable Energy

(C) Ministry of Housing and Urban Affairs

(D) Ministry of Corporate Affairs

‘RE-INVEST 2020’, T fasht &a <t 71 € & guran & of, e e g |
it Bt oft 7 .
(A) Hiftn o Tk e (B) A T A S e
(C) arg ud welt wwel s umerg (D) i Wit 1w

-

97. The land-attack version of which missile was recently test-fired in the '

Andaman and Nicobar ?

(A) Brahmos  (B) Prithvi-[ll (C) Agni-Ill (D) Dhanush

fepmr Feremeer <61 Y-SRI ook e & e AR PR # IR-wr few
T AT ?

@WEE @ g © IRm O

@ R.N. Chibber, who recently passed away, y& associated with which field ©
(A) Sports (B) Defence (C)” Politics (D) Ams
o, foreat, Rt et ) fwm o, fve S A wRE Y

R oS

¢ odte No. : C-704/2021/Serles-B * | 755"

(A) GeTHa (B) (C) TR (D) =™
59] 25:625::35:2 |
@ 1575 @ o) ws D) &8




caf, 1f the letters of the word ‘“VERT[CAL’ are arranged alphabetically, how
many letters will remain at the sapme position 9
(A) One (B) _;B_Two (C) Three (D%I/gone o%‘ these
af greg “VERTICAL’ % 3181 %} quigren % Wm@ﬁ e 8, fehe
o G feafe H T 7

(A) TH (B) @ ©) W} T8 A B AL
%) +lb
: - 7 6y .
101. Next term in the following number series 8, 16, 28, 44, 9 L,n be

ot A AT § ST UE S | & 7 I T
| 4
8, 16,28, 44, ? o 2, 2
(A) 60 (B) 62 (C) 64 112 (D) 66 Ry
ﬁ " =1
102. Praveen correctly remembers that his father’s bi is after 21% May but

before 27" May wl;lereas his sister correctly reme
birthday is after 247" May but before 30® May. On which day in May was
their father’s birthday * ) M 23 3
(A) 24% (B) 234 (C) 22%!
o 1 avedh 7@ A e f6 35 M &
728 2 wEfs 3G e I 0! I A AR R et 1 I 24 TE
e A 30 78 3 TER & | T P foet e T 1 ST 2 7
(A) 24 (B) 23 (C) 22 (D) FTHABR T

|

103.) Which Indus Valley site means Black Banglo?

/Q (A) Chanhudaro (B) Daimapad (Cy Banawali (D) None of these

fepmr Ty wdt wre 1 el e B g7 N
Ay @) Teaee (O wEdE (D) TR

/104 Kosala mahajanapada was located in which Indian State ?

S N

(A) UP_ (B) Bihar _ (C) Gujarat (D) Rajasthan

mmﬁmu@pﬂﬁ@“ o ?

(A) wRw  (B)” f@R (C) T (D) TSR
105. thc/hnethi sultan started the Iqta system ?

(A) Tltutmish (B) Alauddin Khilji

(C) Mohammad-bin Tughlaq (D) Ibrahim Lodhi

S e m—————TEE

(A) Fegatust B) et Ryesh

il

Bt s S b

~emem T UTSANy Naries- B
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106)

107.

108.

109.

110.

111.

112.

The founder of Bhakti movement 11 North India was

{A) Tukaram (B)ylabhacharya
(C) Ramananda . (D) Kabir
Tt d § i -

* GEATIH
A) gERE (B) TEEEE Q) mER (D) FR

Which of the :fk)liowiﬁg introduced Doctrine of Lapse ?

' ' B)” Lord Hardinge

(A) Lord Canning (B)” Lord Hardi &

(C) Lord Ellenborough (D)“Lord Dalhousie
e H8 Rera g Afe T T 7

(A) SEHHT  (B) AEEET (C) wE wER (D) IR

Which plarét has alfost equal rotational period to that of the Earth ?

(A) Venus (B) Mars (C) Jupiter (D) Utanus
foper 1rg 1 YRRV HTeT ST Rt o W R 7

@ B © =l (D) R

Black Forest mountain range is located in
(A) Germany  (B) USA (C)~South Africa (D) Singapore
s B qdaHTen e B -

(A) sFE @) g@ed () RmenhmHD) Rmd

Which isopleth indicates equél salinity ?

(A) Isonif (B) Isoclime (C)Tsohypse (D) Isohaline
S € gy T ST gt w2 7 '

(A) EERE  (B) WEEEe (C) IEEERE (D) IEHRSTH

Outer Himalayas is also called

(A) Himadri  (B) Himachal (C)‘/s__mﬂmg_ O} Aravalli
a1l fermer 7 ¥t wEenar } -
(A) Temmd (B) T ) Faf (D) swEsh

In Tibet, Indus river is known as .

(A) Singi Khamban (B)" Tsangpo == |

(C) Mahi (D) None of these

(a) e (B) ¥ (©) W& (D) THIDNE

o i P

CodeNo, s CT0MMZ1Beries-B g3 0 T\
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[14.

[T15.

116.

117.

118.

119.

(A) ?\{iﬂlﬁtﬂkﬂ (B) Uttarakhan (D) West Ben
. . d (C) M.P. st Bengal
e G ST oy Ty oo 3 A & 7

On which date, the Indian Constitytion was Wssed 7

(C) 15 August, 1947 (D)) 15 August,P19 0
S aTfiE T MRS BfaU™ a9y R o ?

(C) 15 3ATA, 1947 (D) 15 3T, 1950

By which Constitutional Amendment Act, Sikkim became a full fledged

state of the Indian Union ? /

(A) 24 (B) 32 (C) 36™. (D) 42

fore g FEYH mmﬁmmwwmmw ?

(A) 24df (B) 32df ) 36af ., 4, (D) 47af

W is imposed under which article of the Indian
onstitution ? %

(A) Article 343 (B) At (C) Article 356 (D) “Aticle 360

mm%ma@wmm_mmm%? \
(A) B2 343 (B) *F=k352 (O DT 356 (D) TR 360

Who is associated with Sarvodya plan ?

(A) M.N. Roy (B) S.N. Agarwal %
(C)»Tai Prakash Narayan (D) None of these

FaETeg AT § FE G 8 7

(A) TIL.E. T3 (B) TH.WH. 3ETA

(C) SEYRTS! ATF0T (D) T & HX TE

The first 15 year visio ent started fom which year alongwith a 7-

year National Development Agenda ?

73&“@”%@@%@%33'&#93‘? 15 a¢ frew s TN e
T 7
(A) 2015-16 (B) 2016-17 (© 201718 (D) 2018-19
{ \
Pyrometer cannot measures temperature below which temperature 2

R R AT @ S AT e A Fhd 2

(A) 100°C  (@y'soo°c  (Or6s0cc (D) +$00 °C

e . ehinpar, o i et

/ | B Code Mo, : 70412021 Series-B
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120. Crook’s glass contains

(A} Sodium calcium silicate (By~Caesium oxides

{C} ‘BW (D) None of these
7T H ]

ET) ifeam Hfeaan fafhe (B) Hifrm afeamse

(C) e i ghr (D) % & i 7l

121. Which disease is also called as 'Lock jaw ?
(A) Tuberculosis () Typhoid  (C) Syphilis (D) Tefanus
fopr 21 ot it T (-8 W FE S R 7
(A) mfew (B) TE®ES  (C) fawfom (D) feerm 1

122. Antonym of ‘Ostentatious’ is
(A) Awkward (B) Bankrupt (C) Ignorant (D)".flnpretentious

123. One word substitutiori for ‘“To send an unwanted person out of the country’
is . -
(A) Exclude’ (B) Ostracise  (C)~“Deport (D) Expatriate |

-

124. The exhibition was a curjous _ ____ of the old and the new.
(A)“melange (B) fervour "(C) mixture (D) blend

@ Meaning of the idiom “To bring one’s eggs to a bad market’ is |

(A) To face a humiliating situation
(B) To bring one’s commodities to a market where there is no demand for
them

(C) To show one’s talents before audience which is incapable of |
~ appreciating them !
(D)-To fail in one’s plans because one goes to the wrong people for help
126. ‘B0 1 afy-frede ? —
(ANH + ITRT (B)‘/;:; + I (O T+ I (D) T+ I=X
127. a«zj'rﬁ‘r LE:LIE Ty >
(A) &= (B) wgsify (C TI (D) NS
128, e B TR E
(A) TR B)“ TmER. (Op SEE ORI
129. ‘@0 H EREEARE ,
@ B =W © R 0 9=

e e e e, st

Code No. - C-704/2021/Series-B :'“"‘"‘“f"""“'ig"“"

PR u-..-...-‘.._.-?‘._.., " S



{30, ot walering 15
(A 3"({1’?@;1 “f ;il(:ring, to crop when Crop is fow centimeter high.
,,J; ‘\.”k‘-";uc:rmg u’w Crop anytime when crop is few centimeter high.
'y First watering to land
(D) All of these
FTATA R ~
(A) mwmmﬁm%mﬁﬁ |
(B) ®Ee B el ol 991 o vy e o QAR SN D |
(C) gfa =1 o TergA |

(D) F8ud .
o g seevl v .l 50
o EF[la See 91

131. When deposit of efflorescence is more than 10% but less than 50% of
exposed area of brick, the presence of cm_c;csc—cncc is classified as :
(A) slight (B) moderate (C)" heavy - (D) serious
wa Segee &1 FE $2 & Ipfa & & 10% A it AfeT 50% & B
2, 71 Segpee ) Iufeufa & gud @rffea fomn wman & -
(A) ¥ (B) H= () wift - (D) ™R

132. Horizontal curves on highways are provided
(A) to break the monotony of driving.
(B) 1o discourage the tendency to increase speed.
(C) to decrease the mental strain on drivers.
(DY Al of these
TaArT w &fiw % ver kg 9 # '
(A) fmHrfrmadagrsfon (B iy a6y H TeR & 7Y
(C) TR T AR ¥ A e & T (D) T@ad

133. When the bituminous surfacing is done on already existing black top road or
over existing cement concrete road, the type of treatment given is
(A)~Tack coat (B) Prime coat (C) Sealcoat (D) Noneofthese

@ TS Prmm wen o e U em @ik e s W R

syt fi e &, A Fg g ST FER R -
(A) FTETF JTET (B) 3R W™
(C) EHZO AR D) FIa Sl

ST PR )
" o i el e iy

(o ou an A ERINE SNERREE = & T2 S
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Which of the following can be considered as quick clay ?

Li{A) Sensitivity =0 (B)“Sensitivity = 1

135,

136.

137.

138.

139.

140.

(C) Sensitivity = 100 D) Sensitivity = infinity
iﬁmﬁ%%ﬁ&éﬁqﬁwmmm%?
(A) gmfem=0 (B) GAA=1 (C) wgmfdm=100 (D) e = 4=

Settling velocity of inorganic particles less than 0.1 mm varies with the dia
(d) in proportion to :

0.1 mm & B ST il BT S I w7 (d) e g S age
(A) d"2 (B) d"3 (C)d (D) d*I2

A prismatic bar with rectangular cross-section 20 mm x 40 mm,

length = 2.8 m i8 subjected to axial tension force of 70 kN. The measured

elongation of bar is 1.2 mm. What will be the tensile stresses ?

20 mm x 40 mm TAARRR ITIE FR, T = 2.8 m areft NlRs v el

g—wﬂua 70 kN % 1o & | B &1 A1fia &reffertor 1.2 mm B | g7 wfoee R
5

(A) 875MPa (B) 90MPa  (C) 70MPa (D) 65MPa

Nephlometer is used to find which parameter ?

(AY turbidity | (B) taste & odour

(CY” dissolved solid (Dxhardness

N A1 = T FA F fore Aoelinfter s s @ 7

(A) sfdeen (B) Wiy (C) gfmdm (DY w3

Alidade employs in :
(A) Contour survey (B) Plane table survey

(Cy~Both (A) and (B) (D) None of these
H AR

(A) H=T GaH (B) <-3qet &
(C) (A) 3 (B) 3 (D) T AP 7

Permissible limit of free ammonia in water

o | g S 9 agﬁw e -

(A) 025 (B)70.15 (C) 0.10 (D) 0.30
Soil reaction is also called

(A) Soil temperature . (B) Soil fertility
(C) Soil pH (D) “All of these

ge1 wfafiean a8 st wgerd § -

(A) Faae™ _(B) Wym  (©) WpH O wad

e i i e e bt e,
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142.

143.

A cantilever beam of length «[ »

' i i distributed intensit
“g", What will be the length of ¢ carrying a uniform ity of

. : h : hen the maximum bendi
moment (y_}{) 1s equal to the plast?'cpx:?szli z&tﬁz pv)v ?e(Assume i f)mg
Ay ba-0 B) Y- ©) L(1 - Jf) (D) None of these
-’L*'mﬁmﬁwmm nq" qE T B | S &%
1 TS 1B A A gy %T@aaanqyf(Mp)%m
212 2 (My/Mp = £ St (M),

(A) %jﬁ (B) !C[(_f—-\l) (€) L(l._-\[f) (D) 'ﬁﬁﬁaﬁﬁqﬁ

Self cleansing velocity normally adg design is %\
pted for sewer desig
e fesmed = for ST L aeR ad -) ey
(A) 0.5m/s (B)” 0.8 m/s (C) 1m/s (D) 2m/s

A grit chamber, having higher detention period (about 3-4 times ) is called
(A) gritbasin  (B) detritus tank (C) vaccuator (D) grit channel
IS TG AT (T 3-4 1) aer e SRR wEeTaT 8 —

(A) firafm  (B) wee1EE  (C) IFRA (D) fire<mat

@ A singly-reinforced rectangular concrete beam of width 300 mm and

effective depth 400 mm is to be designed using M25 grade concrete and
Fe500 grade reinforcing steel. For the beam to be under-reinforced, the
maximum number of 16 mm diameter reinforcing bars that can be provided is
M25 I8 FHR 3 Fe500 ¥ Yoo Eid &1 T H 300 mm N 3N
400 mm ST TECE Y TH THA-JEeTd HATHR Hehie W B[ I
fo5 ST 2 | im & orgvaEted R F T, 16 mm =W % Yeew oSt R

o fvrehan T < yer 1 S w1 8, & -
BZH(A) 2 B) 4 ©) 5 D) 7

145. Approximate ratio of strength of cement concrete of 7 days to that of 28

146.

e g i o o
i et . e S i, ik s 3 A . —— 17

days is o |
(AY0.56 B) 0.85 (€)70.33 D) 1.0

Minimum quantity of cement concrete that is needed in 1 cubic meter of
reinforced concrete which is directly €xposed to weather is about

Serw w9 & dhew § Iquiie | TS WX wafr wsfie ¥ fag e w9
wehe o =an A 8 -

(A) 200kg By 250kg  (O) 300kg (D) 3[0%

©——" o i
o i S
ppeca b T e

Code No. : C-7043021 Seriey-B




147. For a storey height is equal t0 length of R.C.C wall the percentage increase
strength is : »
fopeft mfret 3 fore, R.cgmﬁmé%mmg, yfererer wmed gfg & -
(A) 0 (B)" 10 (€ 20 (D) 30

148. A column has effective length L When its both ends are fixed, what will be
new effective length if one end becomes hinged ? _
T Fier o T AT L § T 56 21 Ry sz 8, i w R B 8
ST &t 1§ wreh e = g 7
(A) L (B) 05L (C)-141L (D) 2L

@ A constant head permeability test was run on sand sample 16 cm length and
60 cm? cross-sectional area. Porosity was 40% under a constant head of 30
cm, the discharge was found 45 cm’ in 18 second. What will be the co-
efficient of permeability ?

16 cm T 3 60 cm? FFA-F2 frwet T Fee T R v wrem=man
e =ferd foam o1 | 30 cm ¥ R ¥ 3 s GisaT 40% o, 18 Jeve
A fRETT 45 cm?3 T T T | WTOTRRR TR e 8N

(A) 2.22 x 102 cm/sec (B) 1x102cm/sec

(C) 1.5x 102 cm/sec (D) 2.5 x 102cm/sec

150. Anaerobic treatment is best suited for

(A) high efficiency (B) toxic wastes

(C) dilute inorganic wastes (D)strong organic waste
ST TS 56 o Som Juw & -

(A) 3= ggran (B) Tarmem arafdre

(C) 7 st amafine (D) Y&« e el

151. Due to slipping of the wheels, the rails forms

(A) crushed head (B) battered ends
(C)~$pilt head (D) horizontal fissure
afedt & 9w % e, veh wreh f

(A) e (B) fwamfr () Raad (D) dwaw

152. If capillary rise of water in a {mm diameter tube is 3 ¢m, the height of
capillary rise of wafer in a 0.2 mm, diameter of tube in centimeter will be
1 mm & 6 71T § I F1 BRET IWE R 3om R, 00 mm ww D
#fereT # 9o 1 FINHT IUW YAt 1§ @
(A}-1.5 (B) 6 € 15

e

(D) 73

e s

Code No. . C704/1021/Series-B




154.

155.

156.

157.

158.

\&
iimd

A fully M.][l,l,fi]'!’l Ld .&l.:.luy ss:.qnplc has mass 101.5 gram and volume 50 cm?, after
oven drying the clay has magy 84.9 gram. Assume that the volume does not

change during drying. What wi be

_ R Sl be the porosity ?
uF qnf; H qfﬂ‘%m B Hafy 1015 7 3N :maagsso cm3 B, 3w
IR % TAT Y71 ) "JRfy 84 g ATfAT ok Y[ShA AR 3TRI
gaera ?, Jiyar feaf anfi o e e =

(A) 33.8% (B) 10% (C) 30% (D) 40%

in India, generally sewage produced is of the accounted water supplied
from water works. -

mﬁ,m:m%mﬁamﬁaaﬁamm B
(Ay-T5% (By~ 70% ©€) 60% (D) 65%

Uniformity co-efficient for filtering media in rapid gravity filter should not
be less than : -

% Toed fAmiees 4 freiea wrem 3 for wmew 1oTie 389 FW e 8 =TiRe —
(A) 1.15 (B) 1.05 (©)"1.2 (D) 1.1

The quantity of ballast required per meter length for broad gauge track is

ATz 715 veht & feru wfe et dvars amavas dome (fredh) a2 -
(AY~1.036 cubic meter (B) 0.036 cubic meter
(C)~0.071 cubic meter (D) ' 0.053 cubic meter

The slope of sewer shall be %
(A)~given in the direction of natural slope of ground. N,

(B) given in the direction opposite to natural slope of ground.

(C) zero.

(D) steeper1in 20

WWTWW- <8y fa & R 8971 |
(A) STeRfae 2Tt

(B) g%mmeﬁmﬁﬁmﬁml
(C) oA

(D) 20% 1 Frfersamn

If the co-efficient of passive earth Préssure is 3, then co-efficient of active

earth pressure will be S
72 S g g v 3 8, AR O AR WRR R~
(A3 (B) 1 €y 03 (DY 3 -
e e ey g T e N + €0 202 1 Series-B

- e



150,

160.

161.

163.

17.2012, in order to_control subgrade rutting in_ flexible
savemens, the parameter to B¢ sonsidered is

(A) verteal compressive strain on top of subgrade.

(B) vertical compressive stress on top <‘)f granular layer.

() vertical deflection at the surface of the pavement.

(D) None of these | |
IRC + 37-2012 & S, 74 BRE 3 g wdin w1 % e o
g &1 faare ®ET 1.4

\s per IRC :

_,%
2
i3
:

[n a stream generally %ximum speed is situated between surface and

(A) 0.45 of depth (B)0.35 of depth (C) 0.4 of depth (D) 0.3 of depth
e w7 8 e AR TR T (e Oy Y

(A) 045TETE  (B) 035TEH (C) o4mEwd (D) 0.37TEWE

Minimum size of fillet welds when thickness of thicker part is 30 mm, will be
S T W 6 A 30 mm R, oY RAeie dve Y =gaw T gt -
(A) 3 mm (B) 5mm (C)-6 mm (D) 8 mm

. Which signs are in shape of equilateral triangle with apex pointing upward ?

(A) regulatory signs (B) warning sign
informatory sign (D) Any of above
=H @ firg S $ 3 gfira Rrgt oot greg @ K rpfad g € 2
(A) Prr= e (B) Yah e () g fuE (D) IRmATHEN

B.0.D. means

(A) Biochemical Oxygen Demand (B)‘/Biological Oxygen Demand
(C) Bacteriological Oxygen Demand(D) None of these

B.0.D. =l .

(A) TRk HtaEiow fents (B) SRYee ediew feaig
(C) AT e fRmig (D) FH @ HE T&

Porosity of soil sample having itg void ratio equal to 0.5 would be

164.
o.5§%mmﬁwﬁwﬁmm_
(A)33.3% B) 50% (C) 66.6% D) 75% -
v T~~~ g — SE2
e 30 X | = | e
= O _’2 SN
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167.

168.

169.

170.

m*u&w
Wwhen watertable is high, land gradien is steeper and soil is easily erodible,
then the type of irrigation methog Suitable is |
(A) Check flooding (B) Basin flooding
{C) Sprinkler (D) All of these
i@ vl e 35 8, I U arfigay 3 g T @ ARG R, 79
g o féems wgfa Iuge 8 -

What will be the angle of rotation at free end of cantilever ha{ring length “L”
with udl “q” acting on a distance “a” from the fixed end ? (Where a<L)
_“L”awéamﬁ%aﬂ?ﬁat%gaa&&qzthwmmﬂm, | w ameg R
| 2" gft w aefyafa wr “Q"FRER ¢ (orfa<l)

' ga’\3 ga’\3 a™3 ga"3

(A) “6ET B) “gEr (©), 2451 (D) “gp

Which type of flooding is adopted for orchards trees ?

(A) Wheat (B) Orchard tress (C) Rice (D) All of these
HerenT-t g7 < fere Fhe SR T sTTeetre s T R 7

(A) ¢ (B) wERHIgE (C) @™ (D) T ol
Ideal shape of summit curve is

(A) spiral (B) parabolic (C) circle - (D) lemniscates
3T 95 I amm%—

(A) guefed  (B) W& (C) =™ (D) afse

Limiting value of cant gradient for all gauges is
(A) 11000 (B) 1in720 (C) 1in1500 (D) 1in 100

Tt 11 % fore ameHIeRnA YeoraT 1 da A R -
(A) 1000H1 (B) 720%1 (C) 150081 (D) 100% 1
Standard project flood is

(A)ysmaller than probable maximum flood.
(B)the same as the probable maximum flood.
(C) same as design flood.

(D) larger than the probable max flood by a factor implying safety factor.
"R IREHT AT

(A) urrsy arftrepan ST<Td § FHARA BT R |

(B) Hwursy arfiyeram HATCTTa % GHF ST R |

(C) ey seetma & T |

(D) wrvrey srftrepam FAera & 1T @1 T J g oms g

T T Gk v ot el
oo iy i 4 o4 VAP PP i, bty ey b ity ’ T e amt, Tko  e, “spidrs. rarso

i Code No. ; Co70d 3001 Series B



